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Which letter completes this letter-number puzzle ?

puzzle 1

Which number is needed to complete this sequence ?

puzzle 2

Which number completes 
this math puzzle ?

Which letter is the odd
one out in this puzzle ?

puzzle 3 puzzle 4
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Math in English

Answer to brain teasers

Brain  Teasers level 1  #15

puzzle 1 :    A
The average of  the letter numbers of A and G is 4.

puzzle 2 :    20
20 divided by 4 equals 5. Triangle pointing up multiply, triangle 
pointing down divide.

puzzle 3 :   3
Basic subtraction. 86 minus 43 equals 43.  

puzzle 4 :    A
A is the only vowel.
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